Table 3. Velocities (mm/s) x 100 (error*)

up HORI DOWN
Marlboro 1.03(3) 0.94(2) 0.95(3)
Newport 0.98(2) 0.92(3) 0.91(1)
Brand X 1.12(1) 0.95(2) 0.87(3)

* Standard error from LINEST fit; least
significant digit of velocity.

Table 3. Cigarette Slopes from LINEST fits

Up Horizontal Down

direction error direction error orientation | error
Marlboro .010345 | 0.000328 | 0.009473 | .000231 | 0.009492 | 0.0002834
Newport | 0.009627 | 0.000349 | 0.009192 | .000342 | 0.009121 | 0.0000913
Brand X 0.011223 | 0.000106 | 0.009476 | .000216 .008685 | 0.0003498




